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No AfLEZ AHLEEE(FE1ED A+l &5 (520E) wE
1 [IMEEXGER) 3,900,000/ éﬁlﬁﬁl&:ﬁ&mﬁ
1 |(BEVeERE 3,900,000/
1 [BOWT 3,900,000F3
4 |BTAa—RL—av 4,400,000
5 |(#RFRAE 4,500,000
6 |(BR)rErAE 4,900,000
T |(B)MIMREER 5,100,000F3
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F FE Al (Fitk) 4,489,000
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EAAR lilv:ses
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AFLERER FEERBE
EEA INBEE(H)
FE LTS (Fitk) 3,500,000
MEEx ERETRE BBR
FEeEEEHEES 0596-62-1111

No AfLEZ AHLEEE(FE1E) A+l &5 (520E) wE
1 [IMEEXGER) 3,500,000/ éﬁlﬁﬁl&:ﬁ&mﬁ
1 [BE)BPRBEIH 3,500,000
3 |(A)EE 4,000,000
4 |BTAa—RL—av 4,200,000
4 |(BVIHER 4,200,000
6 |(BR)rErAE 4,500,000
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AFLERR EEREBE
EHEA (B Eril
FE LTS (Fiik) 1,800,000
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HE&tEtBHmES 0596-62-1111

No AfLEZ AHLEEE(FE1ED A+l &5 (520E) wE
1 | EFHE 1,800,000 EHRTE

2 |(BR#FHE 2,000,000F3

3 |FMEERE 2,212,000F
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No AfLEZ AHLEEE(FE1ED A+l &5 (520E) wE
1 |FAFNEER (R 1,300,000 EHRTE

2 |(BR#FHE 1,450,000

3 (B EraE 1,470,000
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ARLAH REHEAL
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EHEA 1ty h#R)
FE LTS (Fiik) 1,200,000
MEek ERETRE BHR
HE&tEtBHmES 0596-62-1111

No AfLES AHLEEE(FE1ED A+l &5 (520E) wE
1 (A EvbER) 1,200,000 EALIRTE
2 |(BREARER 1,280,000
3 |[EaL=EH®) 2,830,000/
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